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/lt_J_ELA_JS) 1. What are the 3 basic functions of an operating system? Explain each in I sentence.
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:QE_E:&S—) a. Represent the bit pattern 1%;1 1 1“10011010 1001 111’in hexadecimal notaticn.
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b. SFADE is the hexadecimal representation for what bit pattern?
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c. What are the parity hits in (2) and (b)? (@) .ené-. (B).. has.. 2ven N
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3. What is Kernel? Explain briefly.
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g }1) 4. What is Deadlock? Explain briefly.
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(e wnb) 5. A7114011.... represents the value -5 in two’s complement notation using 7 bits. 1111011

(,9_0 Ealf\" ) 6. What is the result of the following (using two’s complement notation)?
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(7’20 oll\‘}f) How would be a 3-bit Flip-Flop? Draw and explain briefly.
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